Commun. Fac. Sci. Univ. Ank. Ser. A. V. 38, Number 1-2, pp 95-102 (1989)

## ON THE PAIR OF GENERALIZED RULED SURFACES UNDER THE HOMOTHETIC MOTIONS OF E<sup>n</sup>

MUSTAFA ÇALIŞKAN\*, H. HİLMİ HACISALİHOĞLU\*\*

- \* Visiting fellow, Mathematics Institute of University of Warwick. On leave from The University of İnönü in Turkey.
- \*\* University of Ankara, Faculty of Sciences, Ankara-Turkey.

The purpose of this paper, after presenting a summary of known results of the homothetic motions and the generalized ruled surfaces of n-dimensional Euclidean space E<sup>n</sup>, is to define the pair of the fixed and moving generalized ruled surfaces under the homothetic motion and to give some results about the parameter of distributions, apex segments, and apex angles of the pair.

### I. Homothetic Motions in En

The homothetic motion of a body in n-dimensional Euclidean space is generated by the transformation

(1) 
$$\begin{bmatrix} x \\ 1 \end{bmatrix} = \begin{bmatrix} S & c \\ 0 & 1 \end{bmatrix} \begin{bmatrix} \bar{x} \\ 1 \end{bmatrix}, S = hB$$

where B is a proper orthogonal nxn matrix such that if the transpose of B is denoted by  $B^T$  and the unit matrix  $I_n$  then  $B^TB=I_n,$  h is real scalar matrix. The homothetic scale h and the elements of B and c are continously differentiable fuctions of a real parameter  $t\epsilon I; \ x$  and  $\bar x$  correspond to the position vectors of the same point with respect to the rectangular coordinate frames of the moving space E and the fixed space  $\overline E,$  respectively. To avoid the case of affine transfomation we assume that  $h=h(t)\neq constant.$ 

The equation (1) by differentiation with respect to t yields

$$\dot{\mathbf{x}} = \dot{\mathbf{S}}\bar{\mathbf{x}} + \dot{\mathbf{c}} + \mathbf{S}\dot{\bar{\mathbf{x}}}, \ \bar{\mathbf{x}} \in \mathbf{E}$$

where  $\dot{\mathbf{x}}$  is the absolute velocity (absolutgeschwindgkeit),  $S\bar{\mathbf{x}} + \dot{\mathbf{c}}$  is the sliding velocity (fuhrungsgeschwindgkeit), and  $\dot{S}\bar{\mathbf{x}}$  is the relative velocity (relativgeschwindgkeit). For the common fixed points  $\mathbf{x} \in \mathbf{E}$  and  $\bar{\mathbf{x}} \in \mathbf{E}$ , from the equation (2) we have

$$\dot{\mathbf{S}}\ddot{\mathbf{x}} + \dot{\mathbf{c}} = 0.$$

In order to find the position at the initial time of these points we must solve the equation (3). H.Hacısalihoğlu proved in [5] that

(4) 
$$|S(t)| \neq 0$$
,  $\forall t \text{ and } \forall n$ .

Therefore we get a differentiable curve  $\alpha$  of poles in the fixed space E, called the fixed pole curve. By (1) is uniquely determined the moving pole curve  $\bar{\alpha}$  from the fixed pole curve point to point on  $\alpha(t) = S\bar{\alpha}(t) + c$ . That is, the equations of  $\alpha$  and  $\bar{\alpha}$  are

(5) 
$$\alpha = S\bar{\alpha} + c,$$

$$(6) \qquad \bar{\alpha} = -\dot{S}^{-1}\dot{c} .$$

#### II. Generalized Ruled Surfaces

In any k-dimensional generator  $E_k(t) = Sp \{e_1(t), \dots, e_k(t)\}$  of (k+1) - dimensional generalized ruled surface  $\varphi \subset E^n$  there exists a maximal linear subspace  $K_{k-m}(t) \subset E_k(t)$  with the property in every point of  $K_{k-m}(t)$  no tangent space of  $\varphi$  is determined  $(K_{k-m}(t))$  contains all singularities of  $\varphi$  in  $E_k(t)$  or there exists a maximal linear subspace  $Z_{k-m}(t)$  with the property that in every point of  $Z_{k-m}(t)$  the tangent space of  $\varphi$  is orthogonal to the asimptotic bundle  $A(t) = \{e_1(t), ..., e_k(t), \dot{e}_1(t), ..., e_k(t), \dot$  $\dot{e}_k(t)$  of the tangent spaces in the points of infinity of  $E_k(t)$  (all points of  $Z_{k-m}(t)$  have the same tangent space of  $\varphi$ ) [2]. We call  $K_{k-m}(t)$  the edge space and  $Z_{k_m}(t)$  the central space in  $E_k(t) \subset \varphi[3]$ . A point of  $Z_{k_m}(t)$ is called a central point. If  $\phi$  posseses generators all of the same type the edge spaces resp. the central spaces generate a generalized ruled surface contained in  $\varphi$  which we call the edge ruled resp. central ruled surface [3]. For m = k the edge ruled surface degenerates in the edge of  $\varphi$ , the central ruled surface in the line of striction. So the ruled surfaces with edge ruled surface generalize the tangent surfaces of E<sup>3</sup>, the ruled surfaces with central ruled surface the ruled surfaces with line of striction of E3.

φ has following parameter representation

(7) 
$$\varphi(t,u_1,\ldots,u_k) = \alpha(t) + \sum_{i=1}^k u_i e_i(t), u_i \in IR, t \in I.$$

It is shown in [3] that there exists a distinguished moving orthonormal frame (ONF) of  $\varphi$   $\{e_1, \ldots, e_k\}$  with the properties:

i) 
$$\{e_1, \ldots, e_k\}$$
 is an ONF of the  $E_k(t) \subseteq \varphi$ ,

ii) 
$$\{e_{m+1},\ldots,e_k\}$$
 is an ONF of the  $K_{k-m}(t)$  resp.  $Z_{k-m}(t)$   $\subset$   $E_k(t),$ 

(9) 
$$\dot{\mathbf{e}}_{\mathbf{m}+\mathbf{r}} = \sum_{\mathbf{j}=1}^{\mathbf{m}} \beta(\mathbf{m}+\mathbf{r})\mathbf{j}\mathbf{e}\mathbf{j}, \ 1 \leq \mathbf{r} \leq \mathbf{k} - \mathbf{m},$$

iv) 
$$\{e_1, ..., e_k, a_{k+1}, ..., a_{k+m}\}$$
 is an ONF.

A moving ONF of  $\varphi$  with the properties i. - iv. is called a principal frame of  $\varphi[2]$ .

A leading curve  $\alpha \subset E^n$  of a generalized ruled surface  $\phi$  a leading curve of the edge resp. central ruled surface  $\Omega \subset \phi$  too iff its tangent vector has the form

(10) 
$$\dot{\alpha} = \sum_{i=1}^{k} \xi_{i} e_{i} + \eta_{m+1} a_{k+m+1}$$

where  $\eta_{m+1} \neq 0$ ,  $a_{k+m+1}$  is a unit vector well defined up to the sign with the property that  $\{e_1, \ldots, e_k, a_{k+1}, \ldots, a_{k+m}, a_{k+m+1}\}$  is an ONF of the tangent bundle T(t) of  $\varphi$ . One shows:  $\eta_{m+1} = 0$  in  $t \in I$  iff the generator  $E_k(t) \subset \varphi$  contains the edge space  $K_{k-m}(t)$ .

If  $\eta_{m+1} \neq 0$  we call m magnitudes and

(11) 
$$p_i = \eta_{m+1}/K_i, 1 \le i \le m$$

the prencipal parameters of distribution [2]. The parameters are direct generalizations of the parameter of distribution of the ruled surfaces in  $E^3$ . A generalized ruled surface with central ruled surface and no principal parameter of distribution (m = 0) is a (k + 1)-dimensional cylinder. We generalize the definition in [1] as

$$(12) p = {}^{m}\sqrt{|p_1...p_m|}$$

which is called the parameter of distribution of a generalized ruled surface [2].

We call m magnitudes and

$$(13) \qquad \varphi_i(t,u) \, = \, \alpha(t) \, + \, ue_i(t), \, (t,u) \, \in \! I \, \times \, IR, \, 1 \, \leq \, i \, \leq \, m$$

2-dimensional principal ruled surfaces of the generalized ruled surface  $\varphi$  [4]. For the parametrization (7) and possitive integer p if we have

$$(14) \qquad \varphi(t + p,u_1,\ldots,u_k) = \varphi(t,u_1,\ldots,u_k)$$

then we call  $\varphi$  closed, where p is the period [4].

In the case m=k, we call k magnitudes and

(15) 
$$L_{i} = -\int_{0}^{p} \zeta_{i}(t)dt, 1 \leq i \leq k$$

the apex segments of  $\varphi$  [4]. Suppose dim T (t) = k + m + 1 = n. In this case we define m-apex angles of  $\varphi$ . We call m magnitudes and

(16) 
$$\lambda_{i} = \int_{0}^{v} w_{i}(t) dt, 1 \leq i \leq m$$

the apex angles of  $\varphi$  [4], where  $w_i$ ,  $1 \le i \le m$ , there exist [3]:

$$\begin{cases} \hat{a}_{k+i} = -K_{i}e_{i} + \sum_{j=1}^{m} \tau_{ij}a_{k+j} + w_{i}a_{k+m+1} + \sum_{\lambda=2}^{n-k-m} \gamma_{i\lambda}a_{k+m+\lambda}, \\ 1 \leq i \leq m, \end{cases}$$

$$\begin{cases} \hat{a}_{k+m+1} = -\sum_{j=1}^{m} w_{j}a_{k+j} - \sum_{\lambda=2}^{n-k-m} \beta_{\lambda}a_{k+m+\lambda}, \\ \hat{a}_{k+m+s} = \sum_{j=1}^{m} w_{sj}a_{k+j} + \beta_{s}a_{k+m+1} + \sum_{\lambda=2}^{n-k-m} \beta_{s\lambda}a_{k+m+\lambda}, \end{cases}$$
where  $2 \leq s \leq n-k-m$ .

In the care n=k+m+1, from (17) we have

(18) 
$$w_i = - \langle a_{k+m+1}, a_{k+i} \rangle, 1 \leq i \leq m$$
,

(19) 
$$a_{k+m+1} = -\sum_{i=1}^{m} w_i a_{k+i}$$
.

# III. The Pairs of Generalized Ruled Surfaces Under The Homothetic Motions

Let  $\bar{\alpha} \subset \bar{E}$  and  $\alpha \in E$  be moving and fixed pole curves, respectively. Suppose that  $\{\bar{e}_1(t),\ldots,\bar{e}_k(t)\}$  is an orthonormal vector field system at  $\bar{\alpha}(t)$  and  $\bar{E}_k(t) = Sp \ \{\bar{e}_1(t),\ldots,\bar{e}_k(t)\}$ . Then  $\bar{E}_k(t)$  generates a (k+1)-dimensional ruled surface with the leading curve  $\bar{\alpha}$  in the moving space  $\bar{E}$  which is called The Moving Ruled Surface  $(\bar{\phi})$ .  $\bar{\phi}$  has folloving parameter representation

(20) 
$$\varphi(t,\bar{\mathbf{u}}_1\ldots\bar{\mathbf{u}}_k) = \bar{\alpha}(t) + \sum_{i=1}^k \bar{\mathbf{u}}_i\bar{\mathbf{e}}_i(t), \ \bar{\mathbf{u}}_i \in \mathbf{IR}, \ t \in \mathbf{I}.$$

Let  $\{\varepsilon_1(t), \ldots, \varepsilon_K(t)\}$  be an orthogonal vector field system satisfaying the following equation at the point  $\alpha(t)$  in the fixed space E:

(21) 
$$S(\tilde{\epsilon}_i) \, = \, \epsilon_i \ , \, 1 \, \leq \, i \, \leq \, k \ . \label{eq:second}$$

If we set

$$(22) \epsilon_i = he_i , 1 \le i \le k ,$$

then we get orthonormal vector field system  $\{e_1, \ldots, e_k\}$  and therefore  $E_k(t) = \operatorname{Sp}\{e_1, \ldots, e_k\}$  generates a (k+1)-dimensional ruled surface with leading curve is given by (1) in the fixed space E which is called The Fixed Ruled Surface  $(\varphi)$ .

From the equations (21), (22), and S = hB we get

$$(23) \qquad B\bar{e}_i = e_i \ , \ 1 \le i \le k \ .$$

On the other hand, for ONF  $\{\bar{e}_1,\ldots,\bar{e}_k,\bar{a}_{k+1},\ldots,\bar{a}_{k+m}\}$  of asimptotic bundle  $\bar{A}(t)$  of  $\bar{\phi}$ , and  $S\bar{a}_{k+1}=A_{k+1},1\leq i\leq m,$   $\{e_1,\ldots,e_k,a_{k+1},\ldots,a_{k+m}\}$  is an ONF of the asimptotic bundle A(t) of  $\phi$ , where

(24) 
$$A_{k+i} = ha_{k+i}, 1 \le i \le m$$
.

And also, in the case of  $\dim \overline{T}(t) = k+m+1$ , we have the results:

(25) 
$$A_{k+m+1} = ha_{k+m+1} = S\bar{a}_{k+m+1}$$
,

(26) 
$$\bar{a}_{k+m+1} = - \sum_{i=1}^{m} w_i a_{k+i}$$
.

Theorem III.1.. Let  $\varphi$  and  $\bar{\varphi}$  be the (k+1)-dimensional fixed and moving generalized ruled surfaces with the leading curves  $\alpha$  and  $\bar{\alpha}$ ,

respectively. If  $\{e_1,\ldots,e_k\}$  and  $\{\bar{e}_1,\ldots,\bar{e}_k\}$  are the ONFs of  $\phi$  and  $\bar{\phi}$ , then we have the following results:

(27) i) 
$$\beta_{ij} = \overline{\beta}_{ij}$$
,  $1 \le i \le m$ ,  $1 \le j \le k$   $(i \ne j)$ ,

(28) if 
$$i=j$$
, then  $(\dot{h}/h) + \beta_{ii} = \dot{S}S^{-1} + \tilde{\beta}_{ii}$ ,  $1 \leq i \leq m$ ,

(29) ii) 
$$K_i = \overline{K}_i$$
,  $1 \le i \le m$ .

**Proof.** From (22) by differentiation we observe that

$$\begin{split} &\dot{\epsilon}_i \,=\, \dot{h}e_i \,+\, h\dot{\epsilon}_i \;,\\ &\dot{\epsilon}_i \,=\, (\dot{h}h^{-1})\; \epsilon_i \,+\, h\, \left(\begin{array}{cc} \sum\limits_{j=1}^k \,\beta_{ij}e_j \,+\, K_i a_{k+i} \right)\!,\\ &\dot{\epsilon}_i \,=\, (\dot{h}h^{-1})\; \epsilon_i \,+\, \sum\limits_{j=1}^k \,B_{ij}\epsilon_j \,+\, K_i A_{k+i} \;,\; 1\, \leq\, i\, \leq\, m\;, \end{split}$$

(30) 
$$\dot{\varepsilon}_{i} = (\dot{h}h^{-1} + \beta_{ii}) \varepsilon_{i} + \sum_{j=1, j\neq i}^{k} \beta_{ij}\varepsilon_{j} + K_{i}A_{k+i}.$$

On the other hand, from (21) by differentiation we observe that

$$\begin{split} \dot{\epsilon}_i &= \dot{S}\bar{\epsilon}_i \, + \, S\dot{\bar{\epsilon}}_i \; , \\ \dot{\epsilon}_i &= \dot{S}S^{-1} \; \epsilon_i \, + \, S \; \left( \sum\limits_{j=1}^k \; \overline{\beta}_{ij}\bar{\epsilon}_j \, + \; \overline{K}_i\bar{a}_{k+i} \right) \; , \\ \dot{\epsilon}_i &= \dot{S}S^{-1} \; \epsilon_i \, + \; \sum\limits_{j=1}^k \; \overline{\beta}_{ij}\epsilon_j \, + \; \overline{K}_iA_{k+i} \; , \; i \, \leq \, i \, \leq \, m \; , \\ \dot{\epsilon}_i &= (\dot{S}S^{-1} \, + \, \overline{\beta}_{ii}) \; \epsilon_i \, + \; \sum\limits_{j=1,\, j \neq i}^k \; \overline{\beta}_{ij}\epsilon_j \, + \; \overline{K}_iA_{k+i} \; . \end{split}$$

If we consider the equation (30) together with the equation (31), the theorem is proved.

Theorem III.2. We have the following results:

(32) 
$$h \, \bar{\xi}_i = \xi_i \, , \, 1 \leq i \leq k \, ,$$

(33) 
$$|h \ \overline{\eta}_{m+1}| = |\eta_{m+1}|,$$

where,

(31)

(34) 
$$\dot{\bar{\alpha}} = \sum_{i=1}^{k} \bar{\xi}_{i} \bar{e}_{i} + \bar{\eta}_{m+1} \bar{a}_{k+m+1}$$
,

(35) 
$$\dot{\alpha} = \sum_{i=1}^{k} \xi_{i} e_{i} + \eta_{m+1} a_{k+m+1}$$
.

Proof. From (34) we get

$$\begin{split} \mathbf{S}\dot{\bar{\alpha}} &= \mathbf{S} \ \left( \overset{k}{\underset{i=1}{\Sigma}} \ \xi_{i} \ \bar{\mathbf{e}}_{i} \ + \ \bar{\eta}_{m+1} \tilde{\mathbf{a}}_{k+m+1} \right), \\ \\ \dot{\alpha} &= \ \overset{k}{\underset{i=1}{\Sigma}} \ \bar{\xi_{i}} \mathbf{S} \bar{\mathbf{e}}_{i} \ + \ \bar{\eta}_{m+1} \mathbf{S} \tilde{\mathbf{a}}_{k+m+1} \ (\mathbf{S}\bar{\alpha} \ = \dot{\alpha}), \end{split}$$

and using equations (21), (25), and (22) we observe that

(36) 
$$\dot{\alpha} = \sum_{i=1}^{k} h \, \bar{\xi}_{i} e_{i} + h \, \bar{\eta}_{m+1} a_{k+m+1}$$
.

Thus, if we consider the equation (35) together with the equation (36), the theorem is proved.

From these theorems we get the following corollaries.

Corollary 1.

(37) 
$$|p_i| = |h| |\tilde{p}_i|, 1 \le i \le m.$$

Coro!lary 2.

$$(38) p = |\mathbf{h}| \bar{\mathbf{p}} .$$

Corollary 3. For the apex segments  $L_i$  and  $\overline{L}_i$  of the fixed and moving generalized ruled surfaces  $\varphi$  and  $\overline{\varphi}$  under the closed homothetic motion  $x=S\bar{x}+c$ , respectively, we have

(39) 
$$dL_i = hd\overline{L}_i, 1 \le i \le m=k.$$

Proof.

$$\begin{split} L_i &= -\int\limits_0^p & \xi_i(t)dt, \ 1 \, \leq \, i \, \leq \, m{=}k, \\ dL_i &= -\xi_i(t)dt. \\ \overline{L}_i &= -\int\limits_0^p & \overline{\xi}_i(t)dt \ , \ 1 \, \leq \, i \, \leq \, m{=}k \ , \\ d\overline{L}_i &= - \ \overline{\xi_i}(t)dt \ , \end{split}$$

and using (32), we get (39).

Theorem III.3. For the apex angles  $\lambda_i$  and  $\overline{\lambda}_i$  of the fixed and moving generalized ruled surfaces  $\phi$  and  $\overline{\phi}$  under the closed homothetic motion

$$x = S\bar{x} + c$$

respectively, we have

(40) 
$$\lambda_{i} = \bar{\lambda}_{i} + \int_{0}^{p} \langle B\bar{a}_{k+i}, B\bar{a}_{k+m+1} \rangle, 1 \leq i \leq m.$$

Proof. From (35) we get

$$a_{k+m+1} = B\bar{a}_{k+m+1} \; ,$$
 
$$\mathring{a}_{k+m+1} = \dot{B}\bar{a}_{k+m+1} + B\dot{\bar{a}}_{k+m+1} \; ,$$

and using (19) and (26) we have

$$-w_i = -\bar{w}_i + \langle B\bar{a}_{k+i}, \dot{B}\bar{a}_{k+m+1} \rangle$$
 ,  $1 < i < m$  .

#### REFERENCES

- DEGEN, W., Geometrische Deutung des Dralls eines Axoids. Arch. Math. 30 (1978), 440-442.
- [2] FRANK, H., On Kinematics Of The n-dimensional Euclidean Space. Contributions To Geometry. Proceedings of the Geometry Symposium in Siegen 1978, edited by J. Tölke and J.M. Wills, pp. 335-342, Birkhauser Verlag Basel, 1979.
- [3] FRANK, H., GIERING, O., Verallgemeinerte Regelflachen. Math. Z. 150 (1976), 261-271.
- [4] FRANK, H., GIERING, O., Verallgemeinerte Regelflachen Im GroBen I. Arch. Math. 38(1982), 106-115.
- [5] HACISALİHOĞLU, H.H., On The Rolling Of One Curve Or Surface Upon Another. Proceedings of The Royal Irish Academy, Vol. 71, Sec. A, Num. 2, Dublin, 1971.
- [6] MÜLLER, H.R., Zur Bewegungsgeometrie in Raumen höhere Dimension. Monatsh Math. 70(1966), 47-57.